uEd- - Qurg ifle) LHpIb LEGH-@) - Spendlay
. ppb weTssas@ HiekTamdley

Part-B — General Studies and Part-C — Aptitude and

Mental Ability

Nermé&ser :101-200 Qurés wiiduearser : 150
Questions :101-200 Total Marks :150
101. Match the following and choose ﬁhe correct option :

(a) Chloroform 1. CCls NO:

(b) Phosgene 2. ClCeHs+—S-CzH4Cl

(c) Tear gas 3. CHCIs

(d) Mustard gas 4. COCl;

@ ® (@© (@
@A 3 4 2. 1
B 1 4 3 2
© 3 4 1 2
4 3 1 2

(E) Answer not known

ECy QarpésuuL (heraraupend sflunst Qummrss GHuiGser epad shlwimear
e 1levens Gsirey Qg '

(a) @GemGrrummd 1. CClz NOq -
(b) unevgler : 2. ClCsH4+—S-C2H4Cl
(c) seamexfil Lans 3. CHCIs
d) sp@E aumy 4. COClg

@~ b © @ B
@ 3 4 2 1
B) 1 4 3 2
-3 4 1 2
(D) 4 3 1 2
(E) efer QaMwelichene

43 V
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102. Which of the following s.tatemente are true about the Nordicg?

@) Indo-Aryans are the last 'im,migillfanfs into India.

() This group was the next o come to India after the Negriog
(1) This group have come into Indla between 2000 and 1500 B(.
(&) () only R ar " vl
(B) () and i) only
) () and @i only

D) (i) and (iii) only- |

(E)  Answer not known

Birig &aiv @,[ﬁlﬁﬁ lﬁ]s&rm@m

B oo (1) wr G
C) @) pmib (ii) Wb
D) (i) womuw (i1i) 1o g

(E)  oflor Qsiucipe,

CCSE2-2AT/2025
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103. Which of the statement(s) is/are correct?

®)

(11)

(ii1)

Satakarni was First Satavahana King and not the powerful
Satavahana ruler.

?—hs .ac'hlevements are not described in the Managhat
mscription.

His name was inscribed on one of the gateways of Sanchi
stupa and referred to as “Lord of Dakshinpatha”. |

cay”” (iid) only

B)
©)
D)
(E)

(if) and (iii) only
(1) only
(i) and (i1) only

Answer not known

&G SAE (AL T: W W] ahﬁ)gn{&mgqumﬂsb Gfgjlsrm@.l sflwrareney ?

(1)

(11)
(iid)

)
B)
©
®)
(B)

spsiant FnHUTEET baratisalld (ps® A7t LHHIL 5o 568 QTUpE
FNGEUTEHET gy Slusmenit D ;

LW BTSN G& 6T permaTL_ S6l6uLiqed @;nS\UuS!LQULaSld)mm.

26U (HE)
aog e pienipeu s garfld  Serg @uwit

gmEnél
“gl'_@murrgsgﬁm @erpauen” e

QurfésuuLHereTdl LoHmILD
AL LUGEDS! |
(111) wLHD

(ii) wpgp (iii) L=
(i) wrED

(1) wHpmd (ii) oGP
edlenL_ @gj.lﬂmaﬁl@mﬂ?

| 45 | Vv
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104. Which among the following statement(s) is/are true about Iﬂdl
Nationa] Congress?
@) The Father of Indian National Congress is A.O. Hume,

() The first President of Indian Ngtional Congress Wog

S.N. Banerjee.

(i) S.N. Banerjee founded Indian National Liberation ) ederatiop

(4) (@) only

® ) and (i) only

(©) (@) and (ii) only

(M) (i) and (iii) only
(E) Answer not known |

é]sﬁrm@msurmm;:mdr @mﬁm
spmismers Csia; Qs :

(1)

Caélwis éstr.réuﬁlgsfu L upBlu FMlwmer S/

Qrdu Cafus srudyaiiar glr_hang AOQ. ﬁyﬁlgm U,
1) @pdu Cadlwis asmﬁ;&lyaﬂs’ur @5@) ;senmsurr . |

S-N. uneniel ey qur.
(1) SN, _umarigd) @)k Ggﬂu APsme e

POLiEnLy Blmef ey,
(A). (@) wrEn '

B) () whm (i) L @it
©) @) wopw (i) weguo
- (D) (i) wpgio (i) WL {ib
E) Ao Osfuciome

CCSE2-2AT/2025 »
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105. Incorporation of Fundamental Duties to the Constitution of India

was done by

mﬂ Constitutional Amendment Act 1976

. (B) 43¢ Copstituticnal Amendment Act 1977
(C) .44111 Constitutional Amendment Act 1978
(D) 45% Constitutional Amendment Act 1980
(E) Answer not known
al
Sysenolidled (B&r'ré;a;uul'_L_Q. \

(A) 42-ag gdue@nlib Hmssb 1976
(B) 43-aug wrflueewoius o560 1977
(C) ~44-cugy Srdu@eiiig SGHHD 1978
D) 45-aigy Sirflu@LLLS Hmpsd 1980

(B) eflenr Qpfwciidend

CCSE2-2AT/2025 47
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106. Which of the following are true about Tamil Nadu Panchay&ts.
Act, 19942 -

@ Chapter IT of this Act deals with Gram Sabha.

(i)  Chapter VII deals w;with Taxation and Finance.

(i) Chapter Xﬁ de_;als. with Pe.nalti-és.' |

@ 6 only 2y
- () and (iii) only

(©) @ and Gi)only

D) (i) and (i) only

(iii)

(&) (1) G

B) () womib ([ii) wr G-
(©C) () wpgw (ii) Wi
(D) (1) wpgid (i) wr G
(E) oo Qsfweldana
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m Pk onk Foeevet by il

Conmison L1y th Vibaii it istiboast
(1) NI Vit
() Combd Infovmntion Commnssion vy
¢l Candend Vighnea Commiission J94514
(1) Contand B of Tnvestigntion | Wi

(A) (D) nndd G3) only
(8 (1) and (2) only
() ) and (1) only
(1) (2) nnd (1) only

(1) Answaor nol known

gerlpien @aanami seriig.

o en6on! 1D /<D LDLIL| FghuBssuuL ey
(1) Godur nally e-Menser gpeamund - 1993
(2) g dlul paidh spememid - 2005
(3)  ingAuad semaneioy %ms‘mmm - 1963
(4)  inddluans L P®IMIe| DLy - 1969

(A). (2) b (3) -Gub

(1) (1) ippib (2) wGib
\M/Ui) whpnh (4) - Gib
(1) (2) wyhpd (4) wC-EGib
0wkt Qailusiidana

CCMIDATY/2020 9 Vv
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108. Tamil Nadu Governmenl; celebrated April 29 to May 5 to mark Birth

anniversary of

Wdar Bharathidasan

(B) Perunthalaivar Kamarajar
(C) Pasumpon Muthu Ramalinganar
(D) Peraringar Anna

(E) Answer not known

s0s Bins gugd 29 wse Go 5 b Cadl cuany Beumant w Ynbs Breer

Q& meiTL Mg Wig

(A)  urCeupgir urglsnsen

(B) Qumssaeanr srogrgi

(C). " uswQurer WagTTwkiseni
(D) Cundesir siabremrm

(E) . éfen_ Qgflwedrenay
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109. Which is/are the key feature/s of the Women’s Reservation Bill
passed by the Lok Sabha on 20t Sept. 2023?

1)
(i1)

(iid)
(iv)

(A)

©)
(D)
(E)

The Bill reserves 33% of all seats for women in Lok Sabha and
State Legislative Assemblies.

It will not apply to the seats reserved for SC/ST in Lok Sabha
and State Legislatures. _ |

Reservation to be provided for 25 years.
To be effective after delimitation exerciéé.
() and (i) only

(i) and (iv) only

(i) and (ii1) only .

(i) and (ii1) only

Answer not known

QeuLmui 20, 2023 cg;dngj wasaranetuier  HapGeabpriicL p&efT
L 95650 wCsTaTallcr (psblLs SDEBEET TENG? i

@ @ns wGergm E&ESETEE hpb Wbl FU_L_Lpemmigafled gmm
DiMTSG) @L@&Gﬂ@lﬁ.gu@fﬁ@éi({) 33% @s&GSHDS!. '

(i) Cers sur wopb wrble s Lwamiasefie SC/ST &5 gssstiuL
Qs Ens® 98 CUTOLETS!-

(i) 25 wyenBsEssE B @e5E0 pBsILELD.

(iv) Ganed mgjmmﬁ'mmmu LuHH&E 9DEG ;ﬁml_(_L_pmmds@ Gu(mLD.

(A) (1) wpgid (1) wGd

B) () whmid (iv) wLLED

C) (@) wpmb (i) wWCEWD

M) @) whHmbd (i) wEEW

(E) e Qpfweiicvene

CCSE2-2A7T/2025 51 \%
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110. Choose the right matches :

(1) NHS . — 'National Health Service

(2)  CBHI _  (Central Bureau of Health Insurance
(3) PHC | i EY Primarj;r Health Cen_ter »

(9 NRHM - National Real Health Mission

(A«)(/l)and (3) are correct

B @ and (2) are correct

(C) (2 and (3) are correct |
D) (3) and (4) are correct “
(E) Answer not known & )

:'“

sflwres Qun@ggmammg (Egrr@q Gammml.b

(1) NHS % czgém mg,m G&m@u £

(2) CBHI - %"*jﬁﬁ'lﬁ_..?frluﬁg‘;@a;'ﬁnm a8l Lefluss
(38) PHC | | —~ %duﬁﬁ -m'ngﬁr; .ﬂém@m '

(49 NRHM -

Cadlw samsmy G’Emsn oD |
(A) (1) pmis (3) sfuranaey

B) (1) wogud (2) sfunerenay

©)  (2) wpgid> (3) shurarea

D) (3) womw (4) sAwrerera,

(E) efen Qsfluelidvena

CCSE2-2AT/2025 52




111 Assertion [A] 1 Quality of life of people living in rural areas of

Tamil Nadu has improved

Reason [R] : The Tamil Nadu state has introduced a flagship
programme called Tamilnadu Village ‘Habitations

Improvement Scheme.

@A) [A] is true and [R] is false
| Mh [A] and [R] are true; and [R] is the correct_explanation
‘ of [A] ;
(C) [A] s false; [R] 1s true
(D) Both [A] and [R] are t;'ue but [R] is not the correct explanation

of [A] is correct

(E) Answer not known

spm [A : & BB g6 Arrorupriseld  amg wésafler
UMpéEss S Cubut aes.

sBpBI0. T8 spErE  Sgmo arpail Gubur' B3

smyewrd [R] :
> e parns HLLpms APPSILOEALTTS.

A)  [A] off s [R] sop

By 4] sppo [R] Graw@Co o wppd [B] aenug (Al e oflure
eMlerésLd

© [A] ag; [B] of

D) [A] wpmwb [R] Qran@GL &fl gama [R] ererug [A] &5 &

eletésib Gome eTarg) &ifl

fwmer

(E) ofen Gglﬂmeﬁl@mm

53 V
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112. Match the following with the schemes
(a) Mathi Bazar 1. Clean energy
(b) Pasumai Veedugal Thittam 2. Skill development
(¢) Naan Mudalvan 3. Poverty Eradication

(d) Aajeevika 4., SHG

@ G @© (@

A 8§ 1. 2.4
@ 4 1 ¥ .3
@ 1 3. 2 %4
@ 4 3 1779

(E) Answer not known

Setreumeuaneunenn eupdler S ms@hL e QummSSayLD :

(@) wf ugnh 1. &ggwrar afless
(b) usew dHser SLLuid 2. Smar Cubur)
(c) pmer apgdauen 3. mg)@m gy
(d) igellan 4. sw 2 56551

@0 ©

(A) 1 2 4
4 1 2 3
(C) 1 3 2 4
(D) 4 3 1 2
(E) efler Qsflueldrena
CCSE2-2AT/2025 54
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113. which of the following statements are true about Micro, Small and
‘Medium Enterprises (MSMEs) in Tamil Nadu?

1)

()
(i)
@A)
B)

Tamil Nadu ranks third in the country in Udyam
Registrations.

30% of the state’s entrepreneurs are women.
Coimbatore has the most number of MSMEs in the state.

() only
(i1) and (ii1) only

~Cy” (@) and (i) only

D)

(i) and (iii) only

(E) Answer not known

HIOPHTL g 2-6TeT @gu.'. Ay wppib. pOSET GsTHD Hpcuaise
(MSME sar) uppl Qeéraugmid Fmpmiselics arg) sflumanamal?

(1)
(11)

(1)

)
(B)
€
(D)
(E)

CCSE2-2AT/2025

» swid ufoysafied g.@g'pgbrr{%b\ @pHuneild {g}dsrpj-nmg QLéde o areng.
orfagsdar 30% Gg,rr_la@d)@mmcmnﬁ Quainser.

CamubLsgiio-gren wiflesdGaGu ads Gn. dp wopd BOSSIS

Qg mifled i Qjma&rrﬁjam o _GTeTe.

(1) (b

: (i_i) HmID (iii) wr EGw

(i) whmb (i1) v EGw
(i) wpgd (iii) v GG
chlemL @gaﬁlueﬁldjww
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114. Which of the following statement(s) is/are true aboyt K
building? ’

@ K. Lal observes that with the enthronement of Alaygy,
Khilji, a new era was ushered in architecture ip the Hjndf1
Muslim style ' !

(i) Marshall writes “Hauz-ir'khas is one of the most treasyy,,
gems of Islamic archit_;e.c'ture:’_’l g
(i) “Percy Brown remarks” thé'-leﬁtra_n_ce gateway of the

ipe A0 ey mOSqerf
Alauddin Khilji occupies a key position in the ey

Islamic architecture inIndia. ©
(4) @) only | W
B) () and (i) only® el e d
() and (iii) only
(D) (i) and (iii) dn]‘y— e
(E) Answer not kndwn;_";'-f:.

(ii) G,Apma‘uf ~e:arra‘b

iif) « ; e e el .
R su gead Bl
iy Sgyarang eremm Q) ﬂ]gm@' ﬁl@lﬁmﬁﬁ;’.
@) @ wrpo
B @) OB (i) wr Gp
©) ) wop (i) we gy
(D) (i) wogs (i L Qs
(E) efe O5Mueiereng

CCSE2-2AT/2025 e




115. Arrange the following events in chronological order.
(1)  Civil disobedience movement
(2) Sepoy Mutiny
(3) Vellore Mutiny
(4) South Indian Rebellion
@ @ 6.0.@
B) (1), @), 4,3
C) (4),@2),3), 1)

&Y @), 3), @), (1)
(E) Answer not known -

Qeraupld Hlshe|samaend & mﬁ]m&uulq; WaDLLDSSS.
(1) sl wpuy Quésd |

(2) Auumi s

3) Cagit ot

(4) Ggmaﬂmw 4

(A) * (2), 3),(1), @)

(B) (1), (2, 4,3

© 4,@2),3),1
D) 4,3,

(E) efle_ Qpfluslome

CCSE2-2AT/2025 . \Y
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116. Match correctly the books and the Author name :
(@) Thirukkural Uraivalam 1. Va.Se. Kulanthaj S&my

() Thirukkural nunporul malai 2. Ki.Va. Jeganathan
() Thirukkural Araichi pathlppu 3. Karirathina Kavirayg,
(d) Vazhum Valluvam A e ' Thandapani Thegjgg,

@ 0 ©. (ii)*-_? 3L
® 1 gk
© 4 . grpal
D) 1 =8 Gdd Ran m N
(E) Answer ndt-:l.{nciw_ﬁ'&_"; iy g |

LissshismenL .ﬁj,aﬂrﬂmrﬂér @ummqum e;rﬂturrasu Qun@ggmm

(@) dms@pa mummm | .:'.f'-__{:}a.u Qa: @Ep(g,mg, g
- (b) Ams@per @G&TQUE@GE LDrr@ﬁw eﬂ eur, @g&ppngan
©) Swseper %U_WJ#QL'J Ll.ﬁllﬁ'tq i :_a;rnﬂlyg,ﬁmas sellymuir
(d). aumigi> auen@mauy

S ’—‘

;5615&;Lurr@hﬂ Codlai

@ O © @
&) 4

S RN
® 1 2 3 4
© 4 2 1 3
D1 3 4
(E) el Qsfueiomme
CCSE2-2AT/2025 58 ¥




1% Arranging the chronological order/event type. Arrange the major
Pallava Kings.

1. Simhavishnu - 565 to 590 CE
Mahendravarmanl  — 590 to 630 CE
Narasimhavarman]l - 630 to 668 CE

el

Rajasimha - 695 to 728 CE

w1234

®) 3,1,2,4
© 4,231
O 2,4,1,3
(E) Answer not known

sroaflesliuy udea waenismar afl@siubiss :

1. fbwedan — “555mpe 590 CE
2. wGspdyasiver I = 590 af\spg 630 CE
3. prélibweuiioen 1 - 630 dAmpg 668 CE
4 pgdbwr C~ 695 dms 798 CE
(A)( 15203, 4
®) 3,1,2,4
© 42381
D) 2,4,1,3

(E) ofer Qzflwchicrand

CCSE2-2AT/2025 59 Y
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118.

119.

Who was the female poet who gave focused on heroism in the 7,

;]
Society of Sangam Era as ‘Thondruvan Matho Porkalathane™
(A)  Okkur Masathiar (B) Kaval Pendu
(C)  Velliveethiar (D) Avvaiyar

(E)  Answer not known

FRIGSHTE g,L{;]Q,é: 5@5‘5@@ ‘Ggrrc-;iﬁgjtai_sh mrr@g;rr @lurrf’re‘_isaiel.@g;ﬂ@m’- o
a?g'sﬁﬁ;@ WéSwggieud Qar®ég umgw QuekTrumed Leeur wimi?

e

(4) R&&al LIFTSS Wi Teued Guer(®

(C) 'Qmmﬁﬂaﬁﬁmnﬁ ] .'(D)-@mlm'a.lu.ml’r
(E) oo Qsfucioeme

i

3 men or 4 women or 12 boys can complete a work In one day. In

how many days a man, a woman and 5 boys together can complete

that work? |
May (B) 2 days
(©) 3 days (D) 4 days

(E) Answer not known

prefld wpgliunisesr aefld 1 24 1 Quar whgs 5 Apauiser @emans
SicCaumaau assman BT &efled iy

LIumraserr o
(A) 1 prar
C) 3 prsar
(E) ofler Qsflweddena

(B) 2 ;nrra;a;dT
(D) 4 BT _Gar
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120. Seats for Mathematics, Physics and Biology in a school are in the
ratio 5 : 7 : 8. There is a proposal to increase these seats by 40%,

50% and 75% respectively. What will be the ratio of increased seats?
\@)/2: 3:4

(B) 6:7: 8

(C) 6:8:9

(D) None of the above

(E) Answer not known

em uereliuid sz, @m;héﬂmm whgd 2 W¥flud pdu L nsEpssTar
@riser 5: 7 : 8 eanp 65550 SievopgaTarg). Qbs @Lisamer pepGu
40%, 50% wpmb 75% ewisgegpsrar Apdapon Qupriu Hererg erafled

o wigsL@D @Lrhisaflen é‘:ﬂé]gm ereaneuns @ (ma@ ?

A 2:3:4

B) 6:7:8
C) 6:8:9

(D) Cupsear egeldama

(E) ofleni Ggrﬂu.leﬁhdjqnm

CCSE2-2AT/2025 -6l - Vv
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121. The cost of 15 kg of sugar is Rs. 255, the cost of 17 kg of tey ;.
Rs. 1,615 and the cost of 22 kg of rice is Rs. 572. What is the togy
cost of 18 kg of sugar, 21 kg of tea and 27 kg of rice?

(A) Rs. 2,442 (B) Rs. 3,923
&Y Rs. 3,003 (D) Rs. 2,932

(E) Answer not known

15 8.8 sisseqan eJeoa m. 255, 17 .4 wggner eleow m. 1,615 OHDID
22 8.8 offer feve . 572 erafler 18 $.8 srésean, 21 4.4 le BTerT
wHmib 27 8.8 Hff e duapder Qwrss el eremen?

(A) . 2,442 (B) e.3,923

(C) @m.3,003 (D) ‘. 2,932

(E) e Gsflwefcrena

122. The income of a person'is increased by 10% and then decreased by
10%. Find the change in his income in percentage.

Meduced by 1% (B) increased by 1%
(C) reduced by 2% (D) increased by 2% -
(E) .. Answer not known

gm puflar aporand 10% ewigsiul® Gpg 10% @opssiufdns
aaflé SammLw agoragid gouEb wipp ddssmss srers.

A) 1% eopdpg (B) 1% ENOEAOES
©) 2% eopéins (D) 2% 5pdng
(E) een Ggflueldena

CCSE2-2AT/2025 62 Vv




123. Ravi ranks 9™ in a class of 45 students. There are 13 students below
Raj Rankwise. How many students are there between Ravi and Rayj

rankwise?
(A) 27
5 i
(C) 18

(D) 19

(E) Answer not known

45 wremauisd o.arar aigude redl g eug sy GubpeTern. @rrRse &Gy
18 wremauigedT &b GupgIeTeTe. refl wHmDd TTREG @eLulL grb

Qubp wrameuiselldr Gameasms rene?

A) 27
(B)« 17
(C). 18
(D) 19

(E) eflep Gsflweilcrena

CCSE2-2AT/2025 63 V
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124. If DANGER is coded as 10-7-20-13-11-24, then the code

‘MACHINFE' in the same code is

A)

B)

(©)

13-7-20-9-11-25-15

13-7-20-10-11-25-15

19-7-9-15-14-11-20

' @)/19-7-9-14-15-20-11

(E)

DANGER

@D e MACHINE eréngyib Gamdrede @ﬂﬁ@

(4)

(B)

©

D)

(E)

Answer not known

13-7-20-9-11-25-15
13-'5’-20@0-11-25-15
19-7-9-15-14-11-20
19-7-9-14-15-20-11

eflen Qg flwelldena

CCSE2-2AT/2025 64
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125. Carbon serves for the following purpose/purposes in living

organisms :

1)

(2)

@)

&)

(©)

®

It's a structural component of orgénic molecule.

‘Helps to bind with other molecules.

Gives flexibility to the form and function of Biomolecules such

as DNA and RNA.

(1) alone | (B) (2) alone

(3) alone | | Mz) and(3)

Answer not known

o Gflarisafia ariLer Spsear. aps Lew/uafismas Qa1d g ?

1)
(2)

(3)

(4)
©)
(E)

CCSE2-2AT/2025

@ sl ap@dbsapisaien HL_LeOLOLIL| sapme QewdubADS.
@51 WHD. DG @56 eraflSled Gevarriiyse@ar gHLBSSE DG

@l e Wi apassnDiseT (DNA, RNA) a@ésssmg eligeud wpHmId

@&u_l@)um_agrfg@ Qpélpe| arenLoeml aaﬂ&eﬁlm@

(1) v &f (B) (2) wi @b &
(3) LLED & (D) (1), (2) wppd (3)
e @gflwedldena

65 V
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126. Which of the following statements are true?
Essential properties of Magnetic Materials to be an Electromagnet.
L Narrow hysteresis loop
I High permeability
III. High coercivity |
IV. "Low retentivity
(A) I alone correct

(B) 'Both IT and III-are correct

(C) 1L III and IV are correct
\ﬁDj/- L, II and IV are correct

(E) Answer not known

sflunar sppsmeas CoisAs@ &

- Hensnpshisdt surhsst Lo &mpsl Qur
LIGRTL&6T. :

®L-561 QupDés Casamsw
L  sysere 5n§§§§hJ$$ seme

IL A ea@uanan

1. O enps f,a;@g,ﬂmaa{

IV. @ ssswais Spean

A) 1 u:n;l@th & .

(B) II wpgud III &)

(©) T, IIT wpmue IV &

D) I II wpge IV s

(E) efloL Osfudoma
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127. Consider the statements about the soil and choose the right answer :

(1) The soils of northern plains are largely deposited by
Himalayan Rivers.

(2) The presence of Iron Oxide is more in a soil popularly known
as black soil.

(3) The soil derived from deccan trap is fertile and has high
moisture holding capacity.

(A) (1) is true/correct

(1) and (3) are correct
(C) (2) and (3) are correct
(D) (1) and (2) are correct
(E) Answer not known

& LpHlu spdld sflwrereupen CoIHEASE :

(1) ar @pu sweeiulen wer GLHDLTGID @LD:U.ILDGD‘G\J SDLDISETTED
Uig WiaeusbsILHEDS.

(2) s@muy wer aang ruanrs SFULLED waraid by sosh
<iflsid o cTag).

(B)  sssremts - SLg OO ®mEE 2 GanED war aerorer WHND s
FIOLBS®S SMED Spgi@L g,
| (A Q) wrEo shwrang
(B) . (1) wpgid> (3) sflwnens
C) (2) wpgw (3) sAwnarg
D) (1) wpmid (2) sRwrerg
(E) el Qpflueiidena
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128. Choose the right matches among type :

(D
(@)
(3)
4
(A)

B)
(€)

Permanent Settlement —
Partition of Bengal —

Ryotwari System =

Network of Railways —

(1) and {3) are correct

(1) and (2) are correct

(2) and (3) are correct

{Q)/ (3;) and (4) are correct

(E)

Answer not known

Lord Curzon
" Cornwallis
‘Munro

Dalhousie

sflwna ClurmpSujdraranss CompdPa.:

()
(2)
3)
4)
(A)
(B)
(©)
(D)
(E)

Prper Boafs S b

QURISL ﬂ]ﬂsﬁ]mw

Grusgani wap
BoLUtines ey
(1) bpm (3) s

(1) whmd (2) e

(2) wpmib (3) s

(3) wpgid (4) &

SISIGD!_ Ogflweldana
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199. Arrange the following in chronological order :

(1)
(2)
®3)
4
(A)
(B)

The Indian National Army Trial
Formation of Indian National Army
The Royal Indian Air Force

C. Rajagopalachari’s Formula

), @), (1), (3)

(2), (), 3), (4)

'O 3), @), (4), (1)

©)

(E)

(1), (2), (3), (4)

Answer not known

sfluner sraaiflosdld @wsEs :

(1)

@)

(3)
(4)
(A)
(B)
©)
(D)
(E)

CCSE2-2AT/2025

@rdw GCaélu @Frr‘r@}sum BSsren cflgmyeen
@idu Csélw @Un@lmm ComppielésaiiuGse
@.I;rr;u.fs'u @b eSlomariue@L GsmpmeilssliuRHe
8. @urgGarume ﬁ,&&mﬂ S [ .

@),2,(1), 3)

“(2), (1), 3), @)

(3), (2), 4), (1)
(1), (), (3), (4)
elen QsMwedcena

69 \Y%
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130. Choose the true statement(s) about the Fundamental Duties -

(1)
@
(3)
(4)
(A)

To protect the Sovereignty, Unity and Integrity of India,
To protect and improve the Natural Environment.
To preserve the rich heritage of our composite culture,

To safeguard private :prope'rty.,

(1) and (2) only

(2) and (3) only

‘()/(1) (2) and (3) only

@) (2), (3 and (4) only

(E)

Answer not known

Sl é sLewsed upHlu Elﬂujrfmé; Sahidlenar) g pmisemers CerpQs@ :

1)

@
@)
(4)
(A)

(B)
(€
D)
(E)

@b wrelien @m,r_r;u.:r’ra‘mmLP._ @O  WHMb SHLILTL @LL)
UMGI&STUILIS). :

Bupess Guae UTgi&miug whmib Cuobdu@sgieug).

LTIl Ty urgbuflwrksenaryib, LelTapsL usﬁmunﬁma_um UMGISTULIS).

- ga@flunt 2 &L aosamarts LMGSTLILg.

(1) 0pgi> (2) v G
(2) wpmid (3) vt Gup
(1), 2) womw (3) wr Gu
(2), (3) womid (4) w i
el Gsflweldene
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131. Identify the correct order of the table of Precedence

(A)

Ministers of State of the Union, Chief Ministers of States,

Speaker of the Lok Sabha Vice-President

\B/Vlce President, Speaker of the Lok Sabha, Chief Ministers of

(©)

(D

(E)

‘States, Ministers of State of the Union

Vice-President, Ministers of State of the Union, Speaker of the
Lok Sabha, Chief Ministers of States

_Vice-President,. Speaker of the Lok Sabha, Ministers of State

of the Union, Chief Ministers of States

Answer not known

waamflan o Lamar  afl@sdarg. sflurer  aufles guhdloans

sarL_Ml&

(A) AL srsTRSSSE | Geen DILOEETEET, wrfle psoeLEsTSET,
D&ESETEG FUMBTUET, &IeneRT maSlug

(B) gmwan gamPud), wesm@e FUTBILST, orfle pgwessisd, LHu

©

(D)

(E)

‘WEGETEe FLMBIWSET, wrfle pgo®

S|TENTRIGHS 6 B)enem S|NOEFFT&HET
gjmam‘ gmuﬁuﬁ. ngHw SIETRISSH 6 QeerT  SMDESTSHAT,
LOEF &6l

&l 6nemr gam@u@, péEseTeel FUMBTUST, s STFTRESS 6 Qavew

DiDEFTEET, THQ (PBOMDESTEE

eflenL_ Ggﬂusﬁld}mm

71 ' .V
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132. Read the following passage and answer the items that folloy,
Your answer to this item should be based on the passage only.

A nation or society without the participation of women cannot
achieve development. If we eliminate gender discrimination Women
“will deliver all the potentials. Knowledge to develop the family the
nation and the world. As former UN Secretary General Kofi Annan
has stated — Gender equality is more than a goal in itself. It ig pre
condition for meeting the challenges of reducing poverty, promoting
sustainable development and building good governance.

(A) _ Steps to be taken to ensure Women Education

Importance has to be given to reduce gender discrimination

Strong measures have to be taken to-st()p Sexual Harassment
of Women '

(D) Need for the employme
(E) Answer not known

(©)

#

nt Generation Programmes for Women

bpssam_  LgHuGeer undlggl,, Geeu

(Heuares bl sﬁ]mLmaﬂ$$@4m.
2 Ese aflen @liLEden

GUUSL WSS QsrarCL e Gouar(pib.

(B)  undlar Qe

(C) @LIG&?‘NSGTHG&T um

TH&sILL Gaugin(Biib SRERSEIE 5065 sQeowLer bLsulgbanssd
Gl L6t s (g & -
(D) @5 asrrm_ Gmmma—'”“—'”—l 2-(HeuU s &L glt'_i-_ré.m@&amm Caanau
(E) 1oL Osfueficene -
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133. Consider the statements on the national co-operative development
corporation (NCDC) and choose the correct answer

(1)
@)
3)
(4)

It is a statutory corporation
It is an autonomous organization
Now it is a public financial institution

Operating under the administrative control of ministry of
agriculture and farmer welfare

(2) and (3) only

(B)/l) and (3) only

(©

(1) and (4) only

@ (2 and (4) only

(E)

Answer not known

Csélu sl (Bpey GuLUILH &R&W (NCDC)_ upPu smppsefed sflwumer
dlewenwiz GCaib6sH&se|D '

1) Qg @i slLiiyio sgsn "
2) @8 g saam A ;Elgjsusufm&@m
3) @omy GeECantGung A8 Hneenons @osdns
4) @ (B@.m;mr_dw LomHmiLb feusmbger B  ewdsssHler
fireuns s GLUT e S QUGS DS
(A) @ bpmn (3) wi @b
(B) * (1) wppid (3) iG>
© (1) wogp (4) wEw
D)  (2) whmnd (4) wEEb
E) e QpAweiirenss
CCSE2-241/2025 ky | ¥

[Turn over



134. Match correctly the systems/ideologies with their corresponding
names .

Q)
(b)

(c)

(d)

Report of Rvotwari System

Panchamer Schools as
Adidravida Schools

Leader fought against
Patriarchal Chauvinism

Theory of Justice

@ G @© @

(A) 2 4 3 1
(B) 2 3 1 4
(C) 2 1 4 3
Q2 4 1 3
(E) Answer not known

Thanthai Periyar

Thomas Munro and
Francis Ellis

John Rawls

Ayothidasar and
Singaravelar

Geraumb Sl misdr wHRD sOHSge@ar @i OsmuiyeLw Quwrses e
sflwurs QuUTmHSsS : .

(a)
(b)

(c)
(d)

quseurfl S sflsens

L@sEwT LeTallgenar 2 ddyradli
LieTefl&eT eretr «HenlplILig)
angléss Cuilaeungsens
a3liEs Sapeeurm

£l& Canc ()

@ b (@© (@

A) 2 4 3 1
(B) 2 3 1 4
C) 2 1 4 3
D) 2 4 1 3
(E) &flen G flweldena
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sheng Guluwim
Smoey werGoT WwHmib
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ST FIeleL

< Curdlgren whHmib
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135. The initative to eliminate open defecation in India and improve solid

waste management through the ‘Swachh Bharat mission’, leads to

(A) Decline in poverty rates

(B) Iﬁ1pr(_)ve employment opportunities

(‘C)/rm)fove public health and foster a culture of cleanliness
(D) Inadequate infrastructure .

(E) Answer not known

@rdureie Fppsbeiai wawb sPubias @Qﬁlﬂugﬁ)@m. ‘eoeus LITTS Llapes

ab HLssfle Cuenarewew GobURSSMsNEGD GCupEateareriu@nd

(puIhH&lseT

(A) eapew dgrismars GmnSsD

(B) CGausmeeumiitiyseer GCubLbhSsize

(©C) Quny ssrssms GLOUOSSHSD LOHmID SNUIWLE SONESTISNS
QuerTTLILIg)

(D) Gungiwrer 2 ars Lanoliy Gearaio

(E) &Seni Qs Muwelldane

CCSE2-24T/2025 ® %
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136. Which of the following is incorrectly paired in rural-urh,

migration?

(1)  Rural to rural migration —  Reverse push back
(2)  Rural to urban migration —  Push - Pull activity
(3) Urban to urban migration —  Urban turnover

(4)  Urban to rural migration — Rural turnover

00)—T) and (4)
(B) (1) and (2)
(C) (2)and (3)
(D) (3)and (4)

(E) Answer not known

Semeumeuareupmier dyriogdedmbs B&18SHE Qb Quuitey GIEY saupren
QurmsssmssH sdLHs.

(1) Srrosddmpe Srmosdne, - s@ady adi paiey
@b Quwiey
(2)  Symopddie BETEHDE —  Gpméese QaufiCupse
@b Guuite] | Geweur(
3)  pangddmpa parsdpe —  B&TYD wpspHé
Qv Quuwiey |
M) sersfdnie drmoshpe = Aoty wyspod)
@)L buuwrey

(A) (1) wpgb (4)
B) (1) wpgv (2)
(€)  (2) wpgw (3)
D)  (3) wppb (4)
(E) el Ggfwelichena
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137. Assertion [A] 1 Migration is the movement of people across regions

and territories.

Reason [R] : Migration can be external or international.

(A)

(B)

[A] is true but [R] is false

[A] is false and [R] is true

(Wh [A] and [R] are true

D)
(E)

Both [A] and [R] are false

Answer not known

ampm [A] @l_L"JQuu.lr'rm TG QyrHwmaer  OHDID

9yCeens@réES @err G &S @LIbAUWITSH @D

FONATEECH QeuelriymwrsGaur Bjwag) sieuCsaresGeur

smyemid [R] :

BEHEEQLD.
4) 'MJQ] (A] sl <pame smemd [R] sap
B) - spy [A] saup wHpD ST [R] &f
©).. smpmp [A] b wHHD HTTETD [R] b &f
D) smpp [A] b wHHD ST [R] & saup
| (E) ofenr Qpfuefioera

71 A%
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138. Which of the following are correctly paired?

(1) Kurinji
(2) Mullai
(3) Marudam
(4) Neydal
(5) Palai

), 2, (3), (4), (5)
B (), (3), @) ‘
© @), @, )
@) 1,2, 6

" (E) Answer not known.

Parrot _
Wild-cock
Lark

Owl

Pigeon

Yemeuheuaaupmier erena &rﬂmn&u@urr@‘lﬁﬁummaw _

(1)
@
3)
4)
(5)

GG
peenay
LD(BSLD ._
Gsulrgm

umeney

A1), @), @), @), 6)

B).(2), 3), 4
©) 3), @), )
D) @), 2), )

(E) éfler Gsflweldana

CCSE2-2AT/2025
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@umanlbLImy

Qhds
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139. Read the following assertion and reason and select the correct
answer from the code given below.

Assertion [A]: In 1801 the British attacked Sivagangai with a
powerful army.

Reason [R] : In 1801 the Marudhu brother Chinna Marudhu
gave asylum to Oomaidurai.

A) [A] is true but [R] is false
(B) [A]is false but [R] is true
oth [A] and [R] are true and [R] is the correct explanation
of [A] ‘
(D) Both [A] and {R] are true but [R] is not a correct explanation
of [A] :

(E) Answer not known

19letreu (pLd sapm mg‘)gﬂb - gnpandestl U8, &G%p QanH&sluL_(Herer
GO 1g Bl (BHg Filwime ML aws CanplshHEseb. :

sapm [A] : 18010 ( lejsima®, ~mdCouisd @i  séSamips

_ LepL gt Slaushiasmus sréslat.

smyaond [R] : 18010 ap@mge @y sGsmsyt  Saer LGS
ogran DGIETEE DADLEEVLD QarHSSTT.

(A)  smng [A) &fl parmed sryed [R] geum

(B) . sapm [A] seum 24T gmyanrd [R] &
C) epm [A] wHgID sryand [R] @remGid sf wopib sryemd [R] eremug

sapm [A] e eflwimar eflaTéELD
D) @mpy [A] wOpD grpewrd [R] @ramGid sfl parmed smyewrd [R]

eraTLIg) dnhDl [A]
(E) e&feni Qgrﬂusﬁd}ﬂlw

(@) et sMuimer ailerdsd ENPEY

CCSE2-2AT/2025 s | v
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140. Thirukkural is a compilation of the sublime, pure human thoughts
according to M. Ariel — Based on this saying who has referred the

Thirukkural as the Tamil’s sacred book
(A) Mahatma Gandhi

(B) Arignar Anna

(C) M. Varatharajan

@/ G.U. Pope

(E) Answer not known

‘2 eangiomar, gnu@wowner waflgs Spsmandiar QsrEHCu HmeEner -

eramgnld erid. erfluieler as@géng, <i1q Qumhyh Hms@ner ‘B01pit Géug[o’ eTeumd
GHGC Laf | '

(A)  wangon srHHwigser
(B) g}f}]éﬁ' ;ailmmn
(C) . . awpsymeen

D) &.y. Gumy

(E) efen Qsfweiidana
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141. To arrange Valluvar’s statement about Sageness

(1)
(2)
3)
(4)
(5)
(A)
(B)
(©)

D)
(E)

Modesty

Truth

Love

Obligation
Complaisance

@), (3), (2), (5), (1)-
(5), (4), (3), (2), (1)
M, @, 3, (), )
(3), (1), (4), (5), (2)

Answer not known

Enmmnwd)muﬂlsh'r @suét;asmrm G@Dég eudt@Epeu smpeiaaipen Hlrdub SIS,

®
@
®
@
5)

(A) .

(B)
(C)

I5TesuT LD _
eUmuien LD

<D 6HTL

U ulum
SeGaRT T LD

(4),3), (2, (6), (1)
), (4), (3), @), (1)

OB, ), (@), 6), @

(E)

allenL Qzfwelldena

C - -
CSE2-2AT/2025 81 | v
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142. “TIruppu Mugam Seriththa Aenthelil Maruppin” — Identify the figure

of speech used in tlll.e above line
(A) Simile

(B) Metaphor

(C) Personification

(D) Irony

(E) Answer not known

“Bouy wsb Qsilss GIE@ﬂ,ﬁJdJ. @puder” @uur e uwery GubgldTar

3 emfl

(A) -'&sm?m <janfl
*@/e_@ma;-amﬂ

(©€) . spEACupp vl

D) Gappeno sy

(B) eflerr Qasflueiiévenc
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143. A B a‘nd C can separately do a work in 12, 15 and 20 days
respectively. Thgey E}tE}rted to work together but C left after 2 days.
Then A and B will finish the remaining work in days.

w4 B) 5
C) 6 - (D) 15
(E) Answer not known

A, B oppid C 8Cuni sefigsaliuns gm Couaanamu popGu 12 L ser,
15 priser wpmd 20 priseld Gauddmpent. GUGLng epengy. CuEBLd
saCaumaamu gaprs Qelws - HeurGddamant. Y armd C. @uean(®
prisafler Gaiamaerw efl HeflGépmi erafld, A-ib, B-ib Bsaperen Gouenavenws
~ prisafléd @i '

(A) 4 - | B) 5

C) 6 ] - (D) 15

(E) el Qsflwecidene

~
po—

144. A square park is surrounded by a path of uniformlwidth 2 metre all
around it. The area of the path is 288 sq. metres. Find the perimeter

of the park

(A) 124 m | (B) 144 m
(€) 100 m Or136m

(E) Answer not known

QM F5y egeilere LBETTAIE, DS Smadg ussnsaflgid 2 15
Sisoperer @Gy SjeTellerer LTeSLTD @GpuLLBeTargl, Sbst urenguller

UTtiLerey 288 5.8 erafler BibaL Lyhismelier shpareilerensd srers.
A 1245 . (B) 144 8

(€) 1005 (D) 136 8

(E)  afer O Mwelldena '
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145.

146.

A man spends Rs. 500 in buying 12 tables and chairs. The cost of one
table is Rs. 50 and that of one chair is Rs. 40. What is the ratio of
the numbers of the chairs and tables purchased?

Ml | L (B) 2:10
(C) 10:5 | D) 9:3

(E) Answer not known

@0 wailst . 500 &5, 12 Cuomssdr wpmbd prosTdsdr MGt g
Guesiear elee 5. 50b, gm prpsrduiear el . 40 @b aurti@dpr
aafler e ey prosre whmb Guesler elamauler ofdzsmss
& TERTS. ' : |

A) 5:1. hs) (B) 2110

(G) - 105 7 (D) 9:3

(E) efen Gafiwieiicency . -

If LCM of ‘@’ and “@+2” is 1300. Find the LCM of “a” and a +1.
(A) 1350 (B) 2600
€ 2ReN\S o (D) 2700

(E) . Answer not known |

a-opgd a+2 @apflar B.Quroiig 1300 aafle o wHmD a+l
@apBlar B.Gum.o kG srers. |
A) 1350 (B) 2600

(C) 2550 | (D) 2700
(E)  dfler Qsflweferena '
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(E)

(E)

148. The number 311 311 311 311.311 311 311 is

e Qsflwefidera

‘@)/neither divisible by 3 morby 11
(B) divisible by 11 but not by 3

©
D)

(E)

311 311 311311 311 311 311 arap GTGRT DTS
SHufend eu@ULTS!

& 3 @y BHGend euGULTS
_ye BEuGlemdl euEGUL TS

(A)
(B)
©
L)
(E)

divisible by 3 but not by |
divisible by both 3 and 11

Answer not - known

3 <paild Lﬂ@uﬁleﬁ;ﬁ] QUGS

11 =y Lﬁﬁuﬁlsﬁrﬂﬁl au@GUBD BT

11-prgb

3 oy BHuIaD QIGLED BITY 11

3 whmd 11 e (BHull
e GgMweildene

85
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149. In a dice if 1 is opposite to 4 and 2 is opposite to 5, then

(A) 3isadjacentto4and6 .

(B) 3isadjacenttob5and6

\_(,(21/2 is adjacent to 3 and 6

(D) 11is adjacent to 4 and 6

(E) Answer not known

TG ua;am__uﬁisb 1 oGy 4 wppib 256 srﬁ('ﬁq b o eeng erailed
(A) 3 gerg 4 wppd 5&'@ 2I®Cs 2 daTg)
(B) 3 seng 5 wpmid 6&s <iHGs o drang)
(C). 2. gyerg 3 wimw 646 <iHGs p_siTaTQ
D) 1 ez 4 womb 6&;@ 2508 2 areng

(E) cllenL Gg,lﬂu_lsﬁ]mm@
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150. Modern man originated in which period and epoch of Geological

Time scale :
Perid  —  Epoch
@) Tertiary - Paleocene
Gi) Tertiary —— Pliocene
Gii) Tertiary -  Oligocene
(iv) Tertiary —  Miocene
(A) (@) is correct (B) (i) is correct
(C) (iii) is correct (D) (iv)is correct

(E) Answer not known

yelblwed sme &{LI.GU@GGHTUS]G'\) pefer waflgen @hs LIGHAILD wHmid

sragda Garanplanmen :

umaup - —  SDBTOW
6)  Quiefufl, —, GuadGunar
(M) Quiafufl ™~ - QefGurden
(ili) * Quiafuwfl  — oy S\ Carén
(iv). Qurefuwf  — anloGuirett

(A) (1) eflwremeneu (BY (ii) efunenanay

(C) (i11) sfwrerenal (D) () sfluranee

(B) oferr Qaflwaiidene
CCSE2-2AT/2025 87 . Vv
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151. Which of the following statements are correct in the context of

carbon monoxide emissions?

()
(2)

(3)

Its mainly due to incomplete combustion of fuel.
They are more evident in petrol engine.

Long term exposure can cause nausea.

*@)/1) and (2) only

©
D)
(E)

(2) and (3) only
(1), (2) and (3)

(1) and (3)
Answer not known

7 -

s Goreméma® e e samert: upd SpsaTEID hss sbyser &

(1)
(2)
3)
(A)
(B)

(&)
(D)

(E)

sfleuy erfldeng eTAELTmETTE) Gupsisni iz,
@ut.@ﬁn@.mﬂ@un@m mrra;snrr.ﬁ.usafrrd) 6 (e S,
Ben Cpyp e fipafianed oL 6 ghL@sgn.
(1) wppid (2) wrGo

(2) ang.m (3) @b

(1), (2) g (3)

(1) wpgud (3)

allenL Qsfwehideane
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152. Choose the right statement(s) about Malwa Plateau :

(1)

(2)

(3)

(A)
B)

D)
(E)

It has an average altitude of 600 m and slopes towards the
east.

The plateau region is mostly drained by chambal and its
tributary rivers.

The Malwa plateau is located in Rajastan, Gujarat and
Madhya Pradesh.

(1) is correct

(1) and (3) are correct

7(2) and (3) are correct

(1) and (2) are correct

. Answer not known

._ LOMEDEUI IﬁL_Q,LES] LbHBlws &flwimer &m;ﬁ]ww[mmgjasmmg Ggrrsq Q&is :

)
@)

(3)

(A)

(B)
©
(D)
(E)

syrefurs 600 LEl.L_n s pbgLar Hipse Cprad sflpgarang.
ﬁpla;@uﬂlsin Gu@murrmrrsur uGHsalld EbU® DHPID g HeaT
QOiEET UTiSDSI.
el WSS rgevTar GRITS 0ppId oA AnGassds
I LOBG)GTATS) - : Y
(1) weEw shwrers
(1) whpb (3) sflwmrames
(2) wpyb (3) efwran@al
(1) m,r_i)gu.b- (2) sflurarea
e QpMweiaama |
89 | -V
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153. Reason and Assertion :
Assertion [A] : Besides being a political Leader, Gopal Krishng
Gokhale was a great Social Reformer.

" Reason [R] : He was one of the founders of the distinguished
organisation known as “The Servants of India

~ Society”.
(A) [A] is true but [R] is false (B) [A] is false but [R] is true
(C) Both [A] and [R] are true (D) Both [A] and [R] are false
(E) Answer not known :
STy wHmIb Fapm :

sapm [Al : TS geaeui sremu@gg sﬁ]g Camune &(meisemr
CamsCa gm fpps sapss ST msseund.
amyewd [R] @surr ‘Qidw supsmusder  Gsausiser GrGuT@!Lb

genenld eumibg BenwLienl Bmedlwieu.
(A)  spm [A] &M %Gﬂﬂd} snpand [R] gy
B)  spm [A] seumy e sryerd [R] #f
Qrar@w smpm [A] whmib smesd [R] &f
D) @rem@uw smpgi [A] wpmid sngeid [R] seug
(E) &leoL Gsfluaidama

154. Arrange the events in chronological order :

(1) Communal Award
(2) Gandhi Irwin Pact
(3) Chittagong outburst
(4) Poona Pact

@ 1),@), @) 4 (B) 2), (3), (4), (1)
© 3),@),Q1), 9 (D) (4), (3), (2), (1)
(E) Answer not known |

Herel@o flspasmar sraauflasiiy oQEss :

(1) agsyenss Sa

(2) smpd — @eflen o L arLigbams

(3) ArLsmis Qeuliy

(4) g guupsD

A) (1), 2),3), @) B) (2), (3), (4), (1)
(3), (2), (1), (4) D) (4), (3), (2), 1)
(E) oflen -Glgrﬂmemm@cu
CCSE2-2AT/2025 % | ‘ v
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155. Consider the following pairs :

Famous Place Rl
ey Bodhgaya —  Baghelkhand
(20 Khajuraho —  Bundelkhand
(8) - Shixd: ~  Vidarbha
(4) Nasik —  Malwa
(5). Tirupathi —  Rayalaseema

Which of the pairs given above are correctly matched?
A (1), (2) and (4) only :
B) (2), (3), (4)-and (5) only

©/(?) and (5) only

@) (1), (3), (4) and (5) only
(E) Answer not known

Spssarcuperns sflwrsls QUIBSSS

yspEupp Qb ues,
(1) yssswr — LIS ED & &L
(2) sgeyrGar - LuGRTL_GOSTL
3 a.%rqu. h - eilgrLm
4) prfls — Lomedeu T
6) Ampuud - @rmue&io

Spserr_cupmier erened sfluns Qun(mbg Sleper ?
@A) (1), (2) wppd (4) wrEw o

(B) (2), (8), (4) woppd (B) LG &

©)  (2) whmbd (5) LG &l

M) (1), (3), (4) wpmd (5) UG &
(E)  efler QasMweiicoena

C :
CSE2-24T1/2025 21 v
' [Turn over




156. Identify the statement that is not correct with regard to President of
India.

(A) President can resign from his office at any time

\Wsident cannot hold office beyond his term of five years

(C) President can be removed from his office by an impeachment

process

(D) No President of India has so far been impeached
(E) Answer not known -

RQpdws Gyugss geacir Asriunar Gaaumb sappseld seuprar sben

DINL_WIMETLD &Telrs.
(A) ©awurss seoar ugddded  @masb  Gurg  aLGUTYS
Geuasr(HGemmrgih eul Ll elevg eamin

(B) BHSTETOSN S bs @b, Gyures soemi Usdls Byés
Queanrg '
(C) @imssm @ (Impeachment) aunrGenss @q_u_u;a;g seaaienyl) Lgel

Béab Qewiwemd

(D) Qg ey aps @0 G4ursd g'amsuau@m uged  Hasid

GelwiuLeldena

(E) efer QsMweicrena
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157. Match List 1 with List IT and select the correct answer by using the
codes given below the list :

List I List 11

Articles Councils
(a) Art 280 1. Inter-State Council
(b) Art 263 2. Inter-State Water Dispute Tribunal
(c) Art 262 3. Goods and Services Tax Council
(d) Art279A 4, Finance Commission

@ O (© (@
(A) 4 3 2 1

4 1 2 3
(C) 3 4 1 2
D) 1 4 3 2

(E) Answer not known

5CpQsrRssuu Garar ulyqued [ wpgib Il -gé 2 derapep sflumsy

QuUImSSS :
uCgwied I g we 11
§& G &H6T (& (paser

(@) s ffiey 280 1. wrfensg@sda e @y

(b) scLrn9fey 263 orflensensfleordaonar pdbt sagmm
Sriumuib

(¢) s9fey 262 3. QungLaer whmb Gamas aufls @

(d) eiwcidfle 279A 4. HPsew

bo

A) 4 3 2 1
(B) 4 1 2 3
C) 3 s 1 2
(D) 1 4 3 2

(E) eflenr @sfMluelicrane

CCSE2-2AT/2025 93 Vv
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158. Match the following :
Acts
(a) Tamilnadu Consumer Protection Act
(b) Consumer Movement

(¢) Tamilnadu Consumer
Protection Rules

(d) The Monopolies and Restrictive
Trade Practices Act

mf) ® © @
3 2

4
B) 4 3 1
) 2 1 3
M 3 1 2
(E) Answer not known

T

sflwuner aflen_enw QurBEES : ’

FU_L_RISET

(@) s0pErH msGeii UTFSTILE &L
(b) msiGaunt @ussid '
© sOYPETE psiCaurt ungsTiy s

(d) g&Curs wHgd s ELUUTH aisss
DL (LM &ET &1L LD

@ ® © @

A 3 4 2 1
B 4 3 1 2
© 2 1 3 4
@3 1 2 4

(E) aﬁ]mL-Qﬁﬂmﬁﬁﬂ)w

CCSE2-2AT/2025 94
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Year

1969
1988

1986

1974

1969
1988
1986
1974



1§9. Arrange the following states with respect to their Niti Aayog SDG
India Index 2023-24 rankings

@
2)
(3)
(4)
(4)

Tamil Nadu
Uttarakhand
Kerala

Goa

(1), 3), (@), (4)
(1), (2), 4), 3)

to)/) 3), (1), (4)

D)
(E)

(), (D), (3), (4)

Answer not known

8 Cursfler SDG @pflus @G 2023-24 g;rjmrﬂmam__lq 9 éreu(mHLb
wrfleomsmer eflenslLbBss.

(1)
2)
(3)
4)
(A)
(B)
©)

(D)
(E)

sSLHTE
2 Sl raeRm_
Gayerm

Cameurr

(1),3), @), 4

(1), 2), 4), @)
@, 3), (1), @)
(2), (1), (3), (4)
eflenL Qgﬁ]msﬁlmmm

CCSEaoami025 %
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160. The Tamil ‘Nadu Government implemented Kalaingar Magalir
Urimai Thogai Scheme for the Welfare of Women. Which of the
following 1s/are the rationale for the scheme

(1) = Gender disparity in annual income according to the Global
Gender Gap Report 2023 '

1

(i) Changing the poor social status of women
(ii1) Upliftment of rural women

(iv) Recognize the countless hours of silent work put in by women
(A) (i) and (i) only |

\@)/(ii) and (iv) only

(C) (@) and (ii) only

(D) () and (iv) only |

(E) Answer not known

Qu@fsaﬂm poO@IssETE SUPE  @ie S@OEHT selliT o flews Czress
Al Lsang G&u.léau@gﬁu_lgr.l Qereumeauaraupiler  erps - smrewTd Qpss
L gdhsrer fluruwrar efarésib.

() eosemeu Lreden @ml__{amaﬂ &@éma:; 2023 @ear Ly el
aumorarsfld. urdlear Ceugumr( “

(i) Quarseiar gpewvwrer sups Hlenewenwl Lbrrm,f_n |

(i) Aymotiyps Quetrsefan GubLnE

(iv) " Quansafar erameambn el Gy i@wdwirer im@ﬂmﬁ-arﬂ&a;ﬂﬁg@
@ ) wppos i) o e

(B) (i) wpgid (iv) wr o

©) () wppid> (i) e G

D) (1) whpgd (iv) wL @b

(E) e Gsfudame

CCSE2-2AT/2025 96 \ \Y



161. The objectives of National Agricultural Market (e-NAM) portal is to

@

(1)
(111)
(A)

'(B)-

Create a unified national virtual market for agricultural

commodities.
Aid farmers in getting better prices.

Provide marketing options to the farmers.

@) and (i) only

(1) and (111) only

(i) and (iii) only

(D)/(l) (i) and (111)

(E)

Answer not known

Csflu efeusmus shos (e-NAM) Goaru wsi9er Crrési.

- feusmuly  QUIBLEEHES. S0 grnudmass GCsflu  Gudplst

@)
FhoFOW 2 (HUTSGS!

(i) Aops leaenuill GumIeusHE eeusmuis@née 2 50|50
(i) eSeusmIsEsed sH@FILEEED wPE@ET QUPEIGED
A) (i) womob (1) weEb

| (B) (i) whmd (iil) wrED

(O (@) wppo (i) LGP
D) @), (i) wpgo (i)
(B) e Asfuaioas

CCSE2-2AT/2025 97 Y,
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162. The objectives of National Skill Development Council is / are
i) To empower women through economic independence

(i) To Orgarﬁse Training Programmes for youths for skill
development across the country

(1)) To provide monetary awards for skill certification to boost
employability

(iv) To boost the productivity of the country’s workforce
(A) (@), (i) and (iii)

M}, (ii1) and (iv)

(C) () and (ii) only

(D) () only
(E) Answer npt known

Casflw ﬂg}ﬁ'ﬂ Gubur’ (& 5@#5&]&1 &P &ECamer cgm'}mg &NECaaraer
() Qunmemsmé ssBATD apaTs waei Gowur® e ws Qsticus

()  pre pueugib o erer @mm@ﬁémmg Smeir GLﬁLburr@ SieLwir’
LlHéls Sl disemer aflliug

(i) Aper Guobur (& srendlsy QuppaitsErse uer amssda aphd
Caipaaumilieny ASs0LMESSH SO "

(1v) " priigedr 2 epliLeriaetien 2 pusdls HApeer SHsLLESHSD
&) (©), (i) wpguw (iii)

(B) (i), (iii) wpgid (iv)

C) @ opgitd (ii) v ED

D) (@) wpo

(E) elen Ggfweicrena
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163

S R T e P
: . iSO Y haiia

- iling limi indivi
The ceiling limit per individual for cashless treatment for the first

48 hour.s of the roadside accidents under “Nammai Kaakum-48"
scheme 18 Rs. '

o o0 oy Sontan-
(C) 2.50 lakh (D) 3.00 lakh

164.

(E) Answer not known

pLOENLOS srh@h-48 Hrisdar &p, ofusg perGUHD wse 48 el
(‘;pgg@;b@dT uemrllder flsamsssrar e ssaunbl @0 ‘I_T}LJ@JE'@.@-
G- |

(&) 100esd (B) 2.00 ot

(C) 2.50 @Lsbd | (D) 3.00 &b

(E) ofle QsAweidema

The Central Institute of Classical Tamil (CICT) is functioning in its
own new dedicated premises from 9022 onwards in '
(B) Mysore

(A) Chepauk |
(D) Perumbakkam

(C) - Kilambakkam
(E) Answernot known

Hu Hpeuend, 2022a4d QUBHLLD PID B

QenGomfls sblpriel Y
Gl QasudUL{ aHD @D

Qempg LS QysGws euemé

(4) Gsuunssid (B) awsf
(C) Aermbunésd QU(LF)L'IJUIT&IELD
(E) oflen QzAweiidae |
99 v
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165. Match the following :

(a) Symbol of wooing
(b) Symbol of love
(c) Crow a good harbinger

(d) Pandil game mentioned in

@ ® @© @

4) 3 4 1 2
W2 4 1 3
(C) 4 R | 3
D) 1 4. &

(E) Anéwer not known

QummESIs :
(8) ey GoBsedien Aaramd,

(b) oiender Herand

(c) smsbd @m Bow aparardledliiLimer

(d) vemge eflenemu @
@ﬂSl[;IIEII_L'.IIU L (Hemerg

@ & © @

A»3 4 1 2
B 2 4 1 3
© 4 2 1 3
® 1 4 3 2

(E) e Gpflweideama

100

e e T =

R S

Kuruntogai
Leaf of the Asoka tree
Natrinai

White Lilly

GubOsT®s
<2(Csrs orsSer @ana
- BhBlenewr

" Qeudtaner el et

U |




166. Which of the following is Incorrectly paired?

() GopalaNayak  _  Dindugal

(i) DhoondajiWagh -  Madurai

(i) Marudhupandyas - Ettayapuram
(iv) Pulithevan " Nerkattanseval

(A) (1) and (11) only

(m and (iii) only

(C) (iii) and (iv) only

© Gonly
(E) Answer not known

QereumeuaTauHmIeT 6Tg) FIDTE @eands UL HeTeng ?

(i) GCsrure prus - @a‘sr@eka;d)
(11) gna‘srurg@ umé —, “wgleny
(1)  wmgUTETGLTEET - — Tl L WLpid
(iv) qaﬂg@gms&r - Qppsiirgrbseuéd

(A (1) whmb (i) wrGo
(B) (i) wogb (iii) wr i
©) (iii) wpmp (V) LLED
O () weed

E) o Gsfuciame

101 \Y
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167. Whose duties are implicity taught in Thirukkural?
Men |
(B) Women
(C) Citizens
‘(U/The King
(E) Answer hbt known

1ok

ﬁ@é@maﬂﬁ WIm(menLww est-.mma;-féf:rvmléum@paémnﬁsél; éf_hlﬁl&s&uﬂ@é]é?@_sm
(A) | L _Gufr

(B) wsefi

(C). ®gsse

D) sipser

(E) e Qpflwaiicdane

CCSE2-2AT/2025 102



168, What according Valluvar is actually possessed by the people who are

called as possessors?
(A) Motivated

(B) Heroic
(C) Wealthy
(D) Educated

(E) Answer not known

> L WauiTEeT eranGUIT Teng 2-eLwalff eTé ) QUET(EREUTT Sa QDT
m)/Mésa;Lb o e Quimit

(B) &g eeo Guimt
(C) Qadauld e e Gumi
(D) swel o e Gui

Ls
||||||

(E) e Qgfwelicvena

103 : Vv
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169. Match the following :
(@) Thalai sanga pulavanar

thammul

(b) Akan podhiyil Thirumunivan

Tamil sangam

(c) Koodalinaintha ondeen Tamil

(d) Madurai Thokaiyakkinan

@ ® @© @

A 2 8 4
B8 4 2 1
(©) 1 3 4 2
3

D) 2 fih et
(E) Answer not known

QuUmmBEES :

(a) sow& shsll L@ Sper
(b)  siser Qurdude & mapefaue

&10p& FRIGD
© smLdamifs qemes S
(d) wgens Gsremsunsdeanmer

@~ (b (@© @

A& 2 3 1 4
B 3 4 2 1
©1 3 4 3
@Orz 1 4 3

(E) oo Qsfueldeas

CCSE2-2AT/2025
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Kambar

Chekilar

Thirugana Sambandar

Manikkavasakar

SLDLIT

Gesdlpmi

BB ErensibLbs

wresflé&saunes



170. The diameter of a sphere is 8 cm. It is melted and drawn into & wire

of diameter 3 mm. The length of the wire is

(&) 3‘5-9 m (B) 37.9m
(C) 38.9m (D) 39.9 m

(E) Answer not known

8 Q&8 el LqpeTer C?asrrmmrrsmg; 2 pEsLLL B 3 .5 &AlL_LqpeTer &G WIS

2 (HEUTESILL LT, i&sbuller Berb -

&) 3695 - 798
(C) 3898 | (D) 39.98
(E) - eferr Qzflwellcvene

171. A sum of money becomes Rs. 13,380 after 3 years and Rs. 20,070

after 6 years on compound interest. Find the sum

(A) Rs. 4,014 - (B) Rs. 8,460

(C) Rs.9,210 (~D\)/R€s,920'

(E) Answer not known

@ GHUG L Cgresurears) sl ([ el lg wpapuild eperm ThHsEhES
Gpe m. 13,380 wysad, O BIOSE@EESH HUDG ©. 20,070 ysaubd
cuaTiisd) Bl sng aafldr DS QBTend CTEUAIETE, ?

(A) e 4,014 (B) . 8,460

C) @ 9,210 (D) . 8,920

(E) efen Gg}lﬂu.lsﬁlmwm

105 Vv
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172. A, B and C start at the same direction to run around a circulay
stadium. A completes a round in 252 seconds. B in 308 seconds and
C in 198 seconds, all Istarting at the same point. After what time wil]
they meet again at the starting point?
(A) 26 minutes 18 seconds
(B) 45 minutes
Mminutes 12 secondé'
(D) 42 minutes 36 seconds ¢

(E) Answer not known

A, B oppin C g&Cuirt gBy 'ﬁmauﬁi@ Gigrruﬂ:é] R QL GugeILTEr
STHEEDS @ WP &,r_bﬁ a.ﬁ A Ape 252 cdlarmgsenn ‘B Ane 308
dlamgs@sn ‘C alpe 198 'aﬁlwnqa;@tb Hamper crafle Geursar CTHS
Cprgder Qam_dlw. Heveruded Glggrn_rtﬂé]ui QL sde spdliinniser

(A) 26 pbliciser 18 eflarmiq ser
(B) . 45 Bufl_msar

(C) 46 Auf_tuger 12 eflanmg sar
D) 42 Al rusdr 36 efammgad

(E) e GQaAusldens

CCSE2-2AT/2025 106 V



173. Find the next term.
64, 32, 48, 120, 420,

(A) 1260 2By 1890

(E) Answer not known

SIS ML STesr.
64, 32, 48, 120, 420,
(4) 1260 | (B) 1890
(C) 1686 (D) 2318
(E) ofen @Qsfluefcena e

174. Directions : Based on the digit-alphabéts-symbols series given
below, answer the following: :

@18HLI6K*&?UE

How many numbers are there in the series which are preceded by a
vowel and succeeded by a consenant? '

A Two - /3 (B) Four
(C) Three : \(BJ One

(E) Answer not known

oo £op [ Qer0sel O ol chen iz,
@18HLI6K*&?UE

@sQgr_fer eSS aransar 2 Qyupsms GsTLipgD, 2 uditlow

TPEEIEE (PTG HHPIDHSIATISI?

A) Gran® (B) preng

©  aperpy (D) gerp

(E) ofSenr Ggrﬁmeﬂmmw

107 ; Vv
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175. There are 9 color boxes Red, Black, White, Green, Yellow, Blue,
Orange, Violet, Pink but not necessarily in same order. Only 5 boxes
placed between Red and White. Yellow is placed immediate above
White. Only three boxes are placed between Yellow and Green.
As many boxes placed between Red and Green as between Black and
Yellow. Blue is placed below black but not at bottom. More than
4 boxes are placed between Yellow and Blue one box is placed
between blue and orange. Pink box is placed above Violet: Which box
1s placed immediate above and immediate below Black?

“y/ Pink and Green

(B) Pink and Violet
(C) Green and Blue
(D) Pink and Orange
" (E) Answer not known

gerug euamen Cuiligser Heuliy, '&muy, Ceudtenar, Lsems, @pear, Belb,
<%TEpE, easn, @earehdleuciy QmEdenpar. emed 2Cs euflenasuia QmaEs
Caammqw seélufooe. @b Ouigsdr  Hary wHmid - Ceudtenar
QuLysEpsE @l e. eeauss iUl Geraar. wgyedr Quiyertws GeucTaner
Auiné® 2 Ler Gl madsuiul Qerergl. apary GuL g sdr L BRCw WEhear
LOpd usms QAUlEEES @oLGu  odrery. Hariy LHMID  LFDS
QuigsErse QL ooer Quigseidar earaismsuColy S(HLIY
LHMID LoEhaeT GULIgH(@5éE @@Ll 2 erarg. BoriQuiy, MmUY QU 14 &
5Cp @ausslLLPetarg, pammd =g <quld eeudsriLL alldame. BITEsT(S)
QUi s@psE God wEhsd  wHpIL Bl QuigsEséE @eLule
@assubLRderg. ) Guly  BeuQuiigsen BTERE QUL ig&@L
GoLld  eaussiul Hereang. @eargsdleauriy Gully eagn QU dE Good
eeugsUL(ieTang). aThs Gl sy QU igse Cugib, SWL Am&Eb?

(A)  @argrfleuriy whgib LEes
(B) @argsdlauiy whpb eerg
(C) uéews wHL Beolb

D)  @ergrdleuiiyy wpmbd <y Ess
(E) &L Gsfluaidvame

CCSE2-2AT/2025 - v 108 \Y



y76. If = stands for ‘addition’,
« stands for ‘subtraction’,

T stands for ‘division’,

! stands for ‘multiplication’,

7 stands for ‘equal to’ then which of the following alternatives is
correct?

A 7«43T6l17 4

B 3167253675
€ 5-57«38T274

@2.l6«6-5276

(E) Answer not known

— GeTUGl Sl L aeub,

— crestg) sflEgemeuLd,

T aarug augss@and,

I ererug Qupss@b,

7 aetug swwb aetiemsub @EsTe Spssar_apilo ag sflurasnen
(A) 7<43T6l17 4

B) 3l6T253«675

C) 557¢«3T274

D) 2l56—>276
(E) ofenL Gg_ﬂﬂu—@g‘é’mm

-~



(1)

\ @
! 3)
' @

Down’s Syndrome =

Haemophilia -

Klinefelter Syndrome o

Turner Syndrome - -

\90/(3) only

(C) (2)only

(E) Answer not known

177. One of the following is a mismatch :

Autosomal trisomy of

215t chromosome
Sex Linked
X0 Complement

Female with retarded
growth

(B) (1) and (3) only

(D) (1) and (2) only

@mﬁ)ﬁ@ e g,aiprras QurmSSLILL [Herarg) :

(1)

@
3
0
@)
©
®)

Leyaflelr @enpunl @ Crmil

adComedwin

Safldn.Lud L Gapum @ Cpmi
Lfreuriflebr @m;ﬁunL@ GCpmu

(3) wrEw

(2) v Po

aflenL QgMweldena

CCSE2-2AT/2025 110

— 21 aug) GCrmCorGsmaea
gHU@LD %L;_Gn_rrfﬂetrrmsi)
g emyGamal

- uté Qeems s
KO fions
—  aeniéd) Qeranenps wsefl
(B) (1) wppid (3) o Gus
D) (1) oo ) we guo
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478, Match the following List I with List II SDGs (Sustainable
Development Goals) :

List 1 List 1T
(@) SDG 6 1. Life on Land
(b) SDG 11 | 2. Life Below Water
(¢ SDG 14 3. Clean Water and Sanitation
(d) SDG 15 4. Sustainable Cities and Communities

@ ® @© @
(A) 3 4 1 2
B) 4 3 2 1
C) 1 3 4 2

4 2 1

(E) Answer not known
&Qé&;n@m Hevawrar aueriédl @Gab@sear drgued [ ew uligud IT
o L6 QUTBHSSIS '

utigwe I ucgwie II
(a) - Beoawrar aariésl GO&E - 6 1. Hosdd auryd o UG Aamar
(b) Heewrer euaés Qasg - 11 2. getment (@, 2 arGer aum(pLd

o uiflser

() Pevewmer aleniEd) GosE - 14 | 3. &ggonar B LHHID ﬂngngﬁ
(d) Beoawrar alaried Gosg - 15 4. Heewuner psilprisET WHHLD

FOAPSBISET

@ @® @ @
A) 3 4 1 2
(B) 4 3 2 1
© 1 3 4 2
D) 3 4 2 1
(E) efenL @g,rﬂmaﬁlmmm

111 . 'V
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179. Which of the following statemént(s) about the Din-i-Ilahj i8/ay,
correct? |
(A) The number of the followers of the Din-i-Ilahi was large

(B) Itisa state religion
(C) To establish a national religion which would be acceptable
the Muslims and the Hindus

(D) To expand its territories and gain control over the independem
states |

(E) Answer not known

&@mrdnmmmﬂ;g;ér Ser-Qonah upHu o @rebwirer DO/ sbniser ey,
Q)  Sar- Qerefawu Qeaupdueitse 2 H&D

B) 88 66 wrs ws>

0 gpaveSivsar wHoId GigisseT gppE@anerar sgw CsAw wswNs B
Ceuar(pid

(D) GrGgsrsmer  iflau@ssauspen  sspdy  prRseien Bgy
sLHUuT e GuneugshHELh ' ,

(E) &eoL Qsflweldeane

180. plate “exposed that the Chola Queen Vanamadevi
Committed Sati.
(A) Anbil Plate (B) Tiruvalangadu Plate
(C)" Bahur Plate (D) Velvikudi Plate

(E)  Answer not known

Comp <oi7él auramonCaell &4 GuomQa e mir eerues GeuafiiL(gs?

UL wib
(A)  sien9é U wib | Mffgmwmrﬂmn@ UL witb
(C)  umenfr ulLwh (D) Gauareflis)q L wid

() e Qsflweldama
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181. Match the following :

(a) Bharathiar {

(b) Kavimani Desiga Vinayagam Pillai 2.
(c) Bharathidasan 3

(d) Ramalingam Pillai 4

@ ® @© @
A) 3 2 1
B) 4 8- i1
o3 4 1
D) 2 ;|

(E) Answer not known

- QunBEES :

(a) umpdwrt
(b) - seflwenfl G‘gs:ﬂ& dpmwsd ﬂa'rr@m 2
(c) umdsneen
(d) @ymoaisn Fdraar f 4.

@ b © @

(A 3 2 1 4
B) 4 3 | 2
©€) 3 4 1 2
D) 2 3 4 1

(E) efen OpMweiidene

CCSE2-2AT/2025 113
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Pandian Parisu
Tamilan Ithayam
Kannan Pattu

Asia Jothi

uremgwer Lifls

siflper Gswb

 GemewTelr LIML_(p)

8w Cgrd

\Y
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182. Match the Column (A) with Column (B) :

Column (A) Column (B)
Theme Year
(8) Judicial Activism ‘ 1. 1976
(b) Ethical Governance (SARC) 2. 1997
(¢) Restatement of Values of 3. 1947

Judicial life _
(d) Administrative Tribunal 4, 2007

@ ® @© (@
(A) 2 L. 4

3
® 3 4 @ 4
W-r 2 3 g4
®4 3 1 g

(E) Answer not known . _

Epsam afles (A) o ar afens (B) aw Quirmsgs : |
aiflene (A)

aiflans (B)
SHUQUmmer s . e (h
(a) pHszeon Qewpum(E « 111976

) syereovbeo spapH (SARC) 2. 1997
(0 pdssien aumpefldn wrem sefer 3, . 1947

o 2idlsans

() Areunss Erciumun 4, 2007
@ ® © @

(A) 2 1 4 3

(B) 3 4 2 L

© 1 2 3 4

D) 4 3 1 2

(E) dlor Qsfucidme
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;3. Choose the correct answer by using Reason [R] and Assertion [A] :

RN e o T L — T T e
——— PRGN o P e Fo—

Assertion [A] 1 The Constitution of India specifically mentions the

power of Judicial review.

Reason [R]:  The Judiciary has successfully expanded the scope

of Judicial review over the years.

_(A) [A] 1s true; but [R] is false

(B) Both [A] and [R] are true; and [R] 1s the correct explanation

( A] 1s false, [R] is true

(D) Both [A] and [R] are true; but [R] is not correci:",'explanation

of [A]

(E) Answer not known

Spaumd smpm [A] wpmd smernd [R] epduapmp uweupss sflwrer

deo_owus Csibes0és :

sapm [A] : @S | SigsLOLE s Bsed - @Aouns

ﬁ.@uusﬁﬂmmm aj,lasrrugmgas GIUOEEDS).

snyerd [R] SPsgimpurais  HEg 5£uumrjrru.lm a{p%]asrrggmg

&®§§@5§”W Haafld alflaunsds Genairg.

(A) [A] yang &, 2parme [R] 2 Q1F S

(B). “[A] wppid> [R] 2peng &fl; wpmid [R] wperg [A] e anﬂu_urmn efler&sih

C) [A] sans saum, [R] s &l

D) [A] wign [R] g sfluransn@; Dyemad [R] aarg [A] &

sflwurer adlarésLwe)eD

(E) el Qpflweiidane

CCSE2 2412025 1o
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irs i tched?
184. Find out which of the following pairs 18 not correctly matcheqy

(A) SR.Bommai Case (1994)  — President’s Rule
(B) Unni Krishrian Case (1993) - Right to Education
© Prakash Singh Case(20Q6), —  Judicial Reforms
©) M. Nagaraj Case (2006) - Reservatlon

(E)  Answer not known

Epsanaruehpdr Qun@ﬁ,’gmﬁiﬁ@ gy

(&) SR. Qurbeis cupse (1994) -

e | ; @qmq&@ gmm@ﬁ L 8
(B) #maﬂ@@@#wm mmés_é ('1993) G sl flenio
\Q/uslumﬁ»% AUPEG (2005i - bbsgens Sdmssn
(D) M. Lﬁwﬂé auipé@ (2006) ~ QL ess80 |

(E) e Qsfucidana
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. “No man shal imori |
185 all be taken oy Imprisoned, disseized or outlawed, or

exiled, or in an '
Y Way destroyed save... by the law of the land”.
This famous clause is in. .
(A) Bill of Rights
(B) Universal Declaration of Human Rights
(8)—Magna Carta
(D) The Protection of Human Rights Act 1993
(E) Answer not known
“BTLigell SligLiLienL & sl LsHeugCu el aps @G . wals@d s

QeiwruL Geur, aﬂmmﬂu@ggﬂm.@aarr, prhsLssrupeCsr,  aufler

G&ng,g,jj;asmmé; anaLiLHpCeur” Galy )17 aasiCar SIPEHILL PGAITE).
@Iﬁﬁl LspAUDD aUTESD DIEDbgIeTar 2y eueRTLD. .

(A) 2 Menipser gLib

(B) o agerredlw wafg o fanoll QysLarid

(C)  wansnsad

D) ma’ﬂg o Aeposer LTGSMILE gL LLb 1993

E) e Qsfwelom®

; V
. 117 _
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186. Assertion [A] HIV infection more often spreads dye b |

Reason [R] :  The infection of AIDS in blood transfusi, |

A)

B)

R — Y S b o e S Wi . = “"ﬂT
|

conscious behaviour patterns.

patients may occur due to poor mopitoring

Both [A] and [R] are not true -

Both [A] and [R] are true, and r[R]_,_is the correct explanation
of [A] ' |

\QQ)/Both [A] and [R] are true, and [R] 18 not the correct

D)

(E)

explanation of [A] |
[A] is true and [R]"is- false _'

Answer not known -

spm [A] : ﬂé-%ﬁ;ﬁﬁ‘i"lﬂgnﬁg__ "Qu@‘&un@.m 2 @uTiraeTer LGS

Qo sMremons uUméil,rj}gj :

smyewnd [R] L Buggonpp @prru_lrrerﬂas@a@ eiley  Qsmim

(A)
B

(©)

D)
(E)

Gmrr&mrrm essb‘owsrrmﬂul_q a;m;raurmrra; JhuUL_emLb.
sapml [A]l opmib srrewrid [R] @ua{n@m sflurengde

smpr [A]l wpmb smrewmd [R] Quear@id &M, LOmID  STyeRTd [R]

“ampn [A] ssnan eflunen eflanssionen,

app  [A] wopd  smyany [R] @ran@id &), STreRTid Rl
spp [A] ssrer sflurer eflarésind e

sapp [A] &fl, wppid smyerrd [R] seugy
eflenL Qsfwefilcrana

CCSE2-2AT/2025 AR ¥ N

-
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187. Assertion [A] women’s empowerment is a cornerstone of
social justice. Initiatives such as working
women hostels, creches and women-specific
skilling programmes aim to enhance women’s
participation in the work force.

0 . - " - . . v

Reason [R] : Removing barriers to women’s participation in
the economy, the Government is fostering a
more inclusive and dynamic work force.

(A) [A]1is true; [R] is false

(B) [A] 18 false; [R] 1S true

@/Bﬂth [A] and [R] are true, and [R] is the correct explanation
of [A] .

(D) Both [A] and [R] are true, and [R] 1s not ‘the correct
explanation of [A] y '

(E) Answer not known

ampm [A] . QuesEnsE Sdsmweligsd aaugl Sps poudar
R APDEELDTGLD. Lafifly Quemser eflHAser,
@nggu upmofliy  enwbiEeT wHmd QuaTseT
Qemufiurer S Cuownuri@s S riser Gurer
wihéleer Lewils QsnEHuide Guemsaier ukisaflleu
Guiblhsglees Crrésionad Qamedr(HeTeme.
QLT LkGshLgHSTEaT

ganiisd  WB&eb o grerL_&dlw
QIETEMET EUETTHS Q(HEDG!.

_ QurETTETTHSEID
HanL_Ga@aT B4, i
HEb SligLLmerm Qsmf

smyerid [R]

(A). smpg [A] &l gryerd [R] o0
(B) “empp [A] 50U smyeord [R] &

(C) smpm [A] wHPD smyed [R] @
[A] &sner sflwmer AerELTELD

D) smpy [A] wppD ST [R] @rein®

[A] &sman efiwmer a9 aTEELOO

(E) ofan Qgﬁﬂmeﬁ]d}@m

reir@ &M, Gogib sryewrd [R] sapmi

b &fl, Cogih Smyeswrd [R] sapm

C 119 -
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- . eriod of thre
188. Tax Incentives for startup companies for a p : Yeay,

have been introduced in the

\(A~Finance Act, 2016

(B) September 25, 2014
(C) November 4, 2011
(D)  Finance Act, 2014

(E) Answer not kjw{vﬁ

Uflaras Qemmsiu@in ﬂ@mwr&ls@&@ auflésgians apery QU (HLTRIE(E5a

QUPRIGaIE erargy Ggﬁnu}éja;uul;@ B8 st b7 ¥
(&)  Pos st b, 2016

(B) " Qeciibur 25,2014

(-C) peubLif 4, 2011

D) P s b, 2014

(E) ofe QsMwelldena

CCSE2-2AT/2025 120



489. The major renewable energy source in Tamil Nadu

Mndmﬂl

(B)
(©)
D)

®

Coal

0Oil and Gas

Nuclear power

Answer not known

SBPHT 15 2 drer &Aw LgLIEsEsss aflsss egTyd

*)
- ®

(©)
N0

(E)

CCSE2-2AT/2025

STHDTene

Hleésl

eraam@ el mm@m erffleumyy
/g 558

eflenL_ Qgrﬂmaﬂ@ﬂ?@

121

Vv

[Turn over




190. Which of the following is incorrectly paired’

(1)
(2)
(3)
(4)

4)
(B)
©)

Coimbatore
Madurai
Namakkal
Thanj avur
(1) and (4)
(1) and (2)I
(2) and (3)
(3) and (4)

_ Manchester of South India

_ Cultural capital of Tamil Nadu
— Rice Bowl of Tamil Nadu

— Eggcity -

(E) Answer not known S

Geraipeiaap i gl saipns Geanssiir G

1)
@
®)
4
A)
B)

- (©)
D)
()

Gamubyggnit _ @gskraﬂ;b,ﬁmsﬁ]mmm@mm
gy i ﬁﬂwmm—l&ﬁuwu"h@ﬁ HORBETLD
priod 2 glﬂwasgﬁmapmam@é]mm
BT B @"-“”Lf .Jiﬁfiﬁ; .
M opgs 4
(1) wppub (2)
(2) wpgio (3)
(3) wpgib (4)
e Qs Mlwefcena

122.
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191. Choose the right matcheg among type :
(1) Kaverippakkam Inscription

(2) Thirumukkudal Inscription

(3) Tiruvalangadu Plateg

(4) Uthiramerur Inscription -

(A) (1) and (2) are correct
(B). (3) and (4) are correct

(€)_(2), (3) and (4) are correct
O D® and (3) are correct

(E) Answer not known

sflurer QurBsshsmer Csibos0H&s6 D,

1) srCafiumssh s00aL® . —

2) Hmypssmid soGaLB
(3) él@a.lrra)rssa;rr@ QeLCU@

4) 258700 sHEULE

A) (1) whyw (2) &
(B) (3) wpmd (4) &
©) (2), (3) wppud (4) &l
D) (1), (2) wppid (3)
(E) e Gsfuddva

CCSE2-2AT/2025
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Varaguna
Virarajendra
Rajendra I .

Parantaka I

s
aﬁwrr@&r_hﬁgﬁ' |
b TrGgbSy

(LS uurr;‘sg,-asrr |

\Y
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192, Identify the party which started Anti-Non Cooperation Leﬂgue "

Madras Presidency.

(A) Swatantra Party

TB)/Justic_e Party

(C) Communist Party

(D) Indian National Congre's'é- _. i

o W e

(E) Answer not known e

LDSTTE mnanmﬁ@é' %leggu.irrmw@WJE; Gr@rrul-l shsses Qemméy
s Slenwl qBIGFJI-_.LIJHéT.!b &_&aﬁsras. .. il

(A) ‘sspdym a8 -

(B) fHss &

(C) soyefev s 8

(D) @pdw Csélw sidlyen

(E) oo Oaflweiidere

CCSE2-2AT/2025 124



193. Find out the correct statement

(1)
(2)
(3)
(4)
(A)

Thirukkural wag translated in Hindi

— Appathetsithar

Thirukkural wag translated in German — Arial

Thirukkural starts with alphabet ‘s’ (Aa) and end with ‘e’ (Na)

Friendship has 13 chapters

) Q) only

BL-D), (3) only

(©)
D)

(E) Answer not known

swner sphlenarsd serhs.

1)

(2)
(3)
(4)
(A)
(B)
)
(D)
(E)

(1), (4) only
(2), (4) only

Sms@namar @pduid Qumheuursseu - SuunL g

Hmégpaar Qgivafld Aumflduwigge - gflwe

S(méEDeT ‘S BrEHo Cpmhd ‘arsrsdé wudps

;m;ﬁl wér 18 aflsrhsemars Qsrar(ereng)

(1) w_ (b

(1), (3) wi @b

(1), (4) L ®WD

(2), (4) WL D
el Qsflualdaa

CCSE2-2AT/2025
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194. Assertion [A]: “All opinions are here, There is nothing

that is not in it”.

Reason [R]:  Many of Thiruvalluvar’s ideas were innovative ap (|
revolutionary compared to the prevailing policies f
his time.

(A) [A] is true but [R] is false

(B) [A] is false but [R] is true

(C) Both [A] and [R] are true, [R] is the correct explanation of [A]

Mh [A] and [R] are true, and [R] is not the correct

explanation of [A]

(E) Answer not known

sapm [A] : “adami QuUTmEHD Gsaum e,
Baemund @aonng al@urnmEs Wome”

smypewrd [R] @@miﬁ@mlﬂﬁr ShSHEeNd L  Sjeui & &&l
Blovallw GamerenssGerm() @uiEn Cung
Lgempwrearenal, il ds oreraney.

(A) _[A)ef, game [R] saup
(B) . [A] sauy, <@pama [R] &

©) [A] vppw [R] @rewGd &#f, wppw [R) aerug [Alelne sflumer
eflerdaLomEh ‘

D) [A] vogw [R] @ran@n ef, mmu;mh [R] TaTLg) mpy [Aledne
sflwren eflenésweda

(E) oo Ogflweicvena

CCSE2-2AT/2025 126 \Y



195. Choose t.he right matches of the following places where Sangam
period coins were found in Tamil Nadu.

(1) Dharmapuri - Thoppoor

(2) Salem —  Kanniyan Kuttai
3) Erode —  Mukkombu

(4) Trichy —  Vembavoor

‘(74)/(1) and (2) are correct

(B) (2) and (3) are correct
(C) (3) and (4) are correct
(D) (2) and (4) are correct

(E) Answer not known

sflurer @eaens Ca0s(H&s.

5BlpEsHD FHESTR STEEET Al s QL msaT.
(1)  siwouf —. Qg
(2) Geed ~ gearaflwer GLL
3) wGyr® L~ psGsmbY
4) Hmsd —  Qauburgyf
A (1) whmd (2) &f
B) (2) wHmd (8) &ff
(C) (3) whmbd (4) &fl
D) (2) whmd (4) &
E) eflar Qpfweie@®
127 - V
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196. A borrows Rs. 16,000 at 12% p.a. simple interest and B borl"(jwﬁ
Rs. 12,000 at 18% p.a. simple interest. In how many years wil| ¢,
amounts debt be equal?

(A) 12% years

(B) 14% years
2

16— '

MS years

(D) 18% years

(E) Answer not known

safl euliguileb, A eremuiaut e, 16,000 Qﬁrrmesmuj 12% e aul qéeE sLa
amigapni. sefl e g, B aauei m. 12,000 Qgrensenw 18% e

lyb@ sLar TGADTT. asgmer yarPsaio Garsalar sar Qgras
FLOLNS @) (Hé@EGLh 7 «

@) 12% P .
. ) |
(B) 145 <24, BT (D &

2
(C) 16§ =4, 67 (P& 6T

(D) 18% 2 GRT(HEET

(E) oL Qsflucdoma

CCSE2-2AT/2025 ko ¢



i _ _ |
j97. Two NUMDETS are n the ratio of 15 : 11. If their HCF is 13. Find the

198.

CCSE2-2ATI2025

pumbers.
(A) 585 and 429 mand 143
(C) 390 and 286 (D) 117 and 182

(E) Answer not known

@@ aamser 15 & 11 erem aldzs@ SiewhgleTarar. Bieuppler 8.Quieu 13
aafle) BF TSNS &renTs. |

(A) 585 wpgb 429 (B) 195 wpmd 143
(C) 390 wpmibd 286 (D) 117 wpms 182
(E) e&flen Gg,rﬂu;sﬁ]d}ma} '

The least number of square tiles required to pave the ceiling of a

room 15 m 17 cm long and 9'm 2-¢m broad is
@) 738 By 814

(C) 902 : (D) 656

(E) Answer not known

8 s Qsrar_ g s@puidr sardas

15 18 17 Q.5 Berqptd 9 8 2 Qs.
GODHSULE Tamenlbams eremer?

Sienndsg Coamenar FEIT B safler

(&) 738 (B) 814
(C) 902 (D) 656
(E) oferi @gtﬂu.ieﬁléom@
129 v
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199, PI 1s elder than Q. R is elder than Q but younger than P. S ig elde,

than P but younger than T. Who is_the youngest?
A R

® T
\©—q
D). S

(E) Answer not known

P eréuair Q g ol QuAwes: R crdmmrr Q @al. sﬁh_ Guflwueuir syarma

Pg e Adweatr. S erémueur P % a&]l_. Guﬁlu_umn %mrrsu T& L Aflwear,

@8 wnhr Lﬁlassél;ﬁlmeurr?
A R
®) .7
© Q
D) 8

(E) oenr Qsfwelldena
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100 IfAu_>1,B—>2,C~+3.,..Z-—>26
A + B® +C* will not be equal to
&) VFX -

® -0
QAT (B)

O L

(E) Answer not known

Fes 1,B—2,C-3.. Z.—.-> 26 arard Qaner_e
A” +BC +C* g - b6 s1010T5 Qossrs.
o RO
B) S-G

- © -(B) (E)
‘D) L
E) e Qpfweiicoeand

IS e s
\
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